Math 60, Sections 4.5 and 4.6 Notes and Practice Name:

Section 4.5 Slope-Intercept Form

Slope and v-intercept in context

1. At the Mad Genius Escape Room on Hawthorne, the cost is $30 per person. If you want the room to be
private for your party the cost is $27 plus $24 per person.
Source: https://www.madgeniusescapes.com/fag

Write an equation for the total cost, y, in terms of the number of people in your party, x .

a. For a private room. b. For a non-private room.
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Slope Intercept Form of a Lmear Equation: y=mx+b
2. Identhy the slope and the y -intercept of each line below.

a. y=-9x+4 b. y=§x—6 & p=—x+3

m = c/\‘ M = {z o= = \
b=Y _ b= {0, b= {08 )
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3. The weight y (in pounds) of a plastic tank holding x gallons of water can be modeled by the equation
y =28.3454x+67 . Suppose that a truclk will be hauling this plastic tank.

a. What is the slope of this linear equation, with units? Explain what the slope represents in this
context. \JT |
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b. What is the y -intercept of this linear equation? Explain what it represents in this context.
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c. If the weight of the tank is 1,318?81p0unds, how many gallons of water are in the tank?
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4. Write the equation of each line by finding the slope and y -intercept from the graph. M

a.

U

S ool
W : N

Sl
b
Slope: v\3e - Slope: ,,..}_
YU
y-intercept (< ,’L’> y-intercept: ("¢) )- %3
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5. Write the equation of each line by finding the slope and y -intercept from the graph.

a b.
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6. Graph each equation by plotting the y -intercept and then using the slope to plot additional points.
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7. Graph each equation by plotting the y -intercept and then using the slope to plot additional points.
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a. y=—2x-3 b. y=—x+2
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Section 4.6 Point-Slope Form
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The Point-Slope Form of a line with slope m that passes through the point El,yl)\is
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8. Identify the slope and a point that is on each line below. [-)waiz\h ”

a. y=4(x—1)+5 b. y:—%(x+2)—f4 o c. y=-9(x+1)-10
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9. Find the equation of the line with a slope of —2 that passes through the point (3,~5) . Then simplify

the equation to slope-intercept form. i

j:’-W\(X—\L‘B “'_tj\
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Y= —-’2.()(—*5)—5_

Y= -2Fre—S
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10. Find the equation of the line with a slope of % that passes through the point (=2,6) . Then simplify

the equation to slope-intercept form.
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11. Find the equation of the line that passes through the points (2,3 and (4, ,’3. First write the equation
in point-slope form, then simplify the equation to slope-intercept form.
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12. Find the equation of the line that passes through the points (—1,~2) and (5,~4). First write the
equation in point-slope form, then simplify the equation to slope-intercept form.
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13. A bakery owner has learned that by pricing pastries at $2.50 each, sales reach 100 pastries per day. If
they price them at $3.50 each, they only sell 60 per day. Let y be the number of pastries the bakery sells
per day at x dollars each. Write a linear equation that models the number of pastries sold per day when

the price is x dollars each. {3 $D ]OO> (3,5D, bO >
[} ) . rl i /
$ .Paé'hfu-ﬂ

& )
M= Lo-100 "
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More Practice (//

14. Metromile auto insurance charges $30 per month and 3.2 cents per mile (rates may vary).

a. Write a linear equation representing the monthly cost, M, if you drive x miles per month.

b. What is the slope and what does it mean in this context?

The S(bi}( 18 32§ parmule. His the rate per nmule. daven,

¢. What is the M-intercept and what does it mean in this context?

The Mrnteruple is dhe Bued montinly P of g30.

d. If you drive 100 miles in a month, how much will you be billed?

: : |
" ' 0 » - .)\ & ] ~ |
WM =30 + ,0372 (100 D) | wouwld. e L-’l H("/X‘ 1 S 2C ‘
=3+ 5, L fo— 100 miles,
;§5 ?—M 2.—
e. If your insurance bill for the month was $43.60, how many miles did you drive?
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15. Write the equation for each line in slope-intercept form.
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16. Graph each line using the slope and y-intercept.

1

a. y=——x—2 b. y=4x—5 :
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17. Find the equation of a line with a slope of 7 that passes through the point (10,5). Then simplify the
equation to point-slope form.

W= Mm% fo) ¥4

1 = | !"/l of \r N A "
A = T R=10) "

18. Find the equation of the line that passes through the points (~2,—10) and (1,8). First write the
equation in point-slope form, then simplify the equation to slope-intercept form.
m= 8—(-> _ g+io_ 1§ _9
| =(-2) I+ 3 H <

Y= Z(x=)+ 8
y= 2x-1 g
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19. Find the equation of the line that passes through the points (2,3) and (739). First write the equation
in point-slope form, then simplify the equation to slope-intercept form.

m= 1-> _ b e by oL 1S
7= & Yyrgrer g
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20. A company set aside a certain amount of money in the year 2000. The company spent the same
amount from that fund each year on perks for its employees. In 2003, there was still $490,000 in the

: left in t :
fund. In 2007 there was $318,000 left in the fund (2003 LHD,OOD>
a. Write arl1. eqyation{for the amount of money in th? Iipguy,gw year x. CZDO_?/ 3%, ODD>
m= 318-410 _. 172 T
b k - R — = ._‘I ::,/Lrj,_. { A~ OY?
o 4 ( _ =
(3’j ’f cl“)
Y= -'—B()K—*%)*L“Cf() : i "’183
= - Ly, W ;
= ~43x + 11 +490 3= 1A+ 6l 4o make & easieq

b. How much is the company spending each year from this fund?
Tre compang (s § P«emd,\.m 3 $ut 3,000 per a,ﬂ&y -
J J 0
(slepe >

c. How much money did they start with in the fund? ‘
e COW«?&U Smrw w[—b\/\_’ gp bl CL NOO N UL\L -PLM*—A_.
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d. In the year 2011, how much was left in the fund?

In 20ll €heft WA g‘%l%g/ OO0

Y=-43(1)+b1q jeft in thee
o = ~473 +6l 9
= 146

e. If they continue the same trend, in which year will the fund run out? U‘JL/
y=-H3XHEI] Afder 204 the Fu
i o '
o = ~H3Ik+bl] wowkd-
—b1(4 —= | Cf
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